CHEMISTRY

BOOKS - OMEGA PUBLICATION

THE SOLID STATE

1. Give important characteristics of solid state.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qavSWFNdk1Hi

2. Give important differences between

crystalline and amorphous solids.

o Watch Video Solution

3. An enzyme contain 5.6% Fe, calculate

number of Fe atoms present in 1g of enzyme.

o Watch Video Solution

4. What is anisotropy ?



https://dl.doubtnut.com/l/_3zmLUIUtObZX
https://dl.doubtnut.com/l/_3RbrnRsLAfS9
https://dl.doubtnut.com/l/_mq4quy2GqV93

o Watch Video Solution

5. What makes a glass different from a solid
such as quartz ? Under what conditions could

quartz be converted into glass ?

o Watch Video Solution

6. Name the binding forces in molecular solids.

o Watch Video Solution



https://dl.doubtnut.com/l/_mq4quy2GqV93
https://dl.doubtnut.com/l/_T867PBV9gjp7
https://dl.doubtnut.com/l/_6Wg0f9IOGxqB
https://dl.doubtnut.com/l/_CJncTdErxsIU

7.Name the binding forces in ionic solids.

o Watch Video Solution

8. Name the binding forces in covalent solids.

o Watch Video Solution

9. Classify crystalline solids on the basis of
nature of forces among the constituent

particles.

| & I


https://dl.doubtnut.com/l/_CJncTdErxsIU
https://dl.doubtnut.com/l/_UQaIGUirukjr
https://dl.doubtnut.com/l/_Z7d5KQqlMJ0l

| ¥ Watch Video Solution |

10. Classify each of the following solids as
ionic, metallic, molecular, network (Covalent)
or amorphous.

Tetra phosphorous decoxide (P,O1)

o Watch Video Solution

11. Classify each of the following solids as ionic,

metallic, molecular, network (Covalent) or


https://dl.doubtnut.com/l/_Z7d5KQqlMJ0l
https://dl.doubtnut.com/l/_B0yiVL4x5jXt
https://dl.doubtnut.com/l/_UEUMd9pMmjZG

amorphous.

Graphite

° Watch Video Solution

12. How many molecules of O2 are present in

1L air containing 80% volume of 02 at STP?

o Watch Video Solution

13. Calculate the volume occupied by 28g of

nitrogen gas


https://dl.doubtnut.com/l/_UEUMd9pMmjZG
https://dl.doubtnut.com/l/_QIpw0JqQiZMm
https://dl.doubtnut.com/l/_qStACrSEbQLQ

° Watch Video Solution

14. The number of moles of nitrogen atom in

18.066 (10*23) nitrogen atom is :

A a.2

B.b.4

C.c.8

D.d.3

Answer:



https://dl.doubtnut.com/l/_qStACrSEbQLQ
https://dl.doubtnut.com/l/_ox0xSoL1LUWk

15. Classify each of the following solids as

ionic, metallic, molecular, Covalent

Rb

o Watch Video Solution

16. Classify each of the following solids as

ionic, metallic, molecular, network (Covalent).

I

o Watch Video Solution



https://dl.doubtnut.com/l/_ox0xSoL1LUWk
https://dl.doubtnut.com/l/_jL0dvG4iwUeu
https://dl.doubtnut.com/l/_4Uz71cXuJdl0

17. Classify each of the following solids as
ionic, metallic, molecular, network (Covalent)

LiBr

o Watch Video Solution

18. Classify each of the following solids as
ionic, metallic, molecular, network (Covalent)

or amorphous.

Py

| o |


https://dl.doubtnut.com/l/_4Uz71cXuJdl0
https://dl.doubtnut.com/l/_9RD7KjIm0t7C
https://dl.doubtnut.com/l/_D7uTdhFRrwzS

¥ Watch Video Solution ]

19. Classify each of the following solids as
ionic, metallic, molecular, network (Covalent)
or amorphous.

Si

o Watch Video Solution

20. Classify each of the following solids as

ionic, metallic, molecular, network (Covalent)


https://dl.doubtnut.com/l/_D7uTdhFRrwzS
https://dl.doubtnut.com/l/_wKh8FQHYN4Rc
https://dl.doubtnut.com/l/_3FCEvLC8dmzq

or amorphous.

Plastic

° Watch Video Solution

21. What type of solids are electrical

conductors, malleable and ductile ?

o Watch Video Solution

22. Solid which is very hard, electrical insulator

in solid as well as in molten state and melts at


https://dl.doubtnut.com/l/_3FCEvLC8dmzq
https://dl.doubtnut.com/l/_p5G45eXGNur4
https://dl.doubtnut.com/l/_tFpwRz6OhsQF

extremely high temperature. What type of

solidis it ?

° Watch Video Solution

23. The number of moles of nitrogen atom in

56 g nitrogen is

A a.2

B.b.1

C.c.3

D.d. 4


https://dl.doubtnut.com/l/_tFpwRz6OhsQF
https://dl.doubtnut.com/l/_cO7ll5zx8SmO

Answer:

o Watch Video Solution

24. What weight of grams is represented by 1.5

moles of sulphur dioxide ?

A.a.60g

B.b.74 g

C.c.o g

D.d.91g


https://dl.doubtnut.com/l/_cO7ll5zx8SmO
https://dl.doubtnut.com/l/_v7RcDaaUPfh6

Answer:

o Watch Video Solution

25. Collect the melting point of

Ethyl alcohol

° Watch Video Solution

26. The number of atoms in 20g of SO3 is

approximately


https://dl.doubtnut.com/l/_v7RcDaaUPfh6
https://dl.doubtnut.com/l/_OBQp9zWDpx60
https://dl.doubtnut.com/l/_sqocRuWAUpU6

A. a. 1(10%23)

B. b. 1.5 (10*23)

C.c.2(10*23)

D.d. 6 (10*23)

Answer:

o Watch Video Solution

27. Collect the melting point of

methane from a databook

| 8


https://dl.doubtnut.com/l/_sqocRuWAUpU6
https://dl.doubtnut.com/l/_Yd2AH8hZvA0C

28. What can you say about inter molecular

forces between the molecules ?

° Watch Video Solution

29. Write two differences between molecular

solids and covalent solids .

o Watch Video Solution



https://dl.doubtnut.com/l/_Yd2AH8hZvA0C
https://dl.doubtnut.com/l/_62GalPxmyFKn
https://dl.doubtnut.com/l/_B1hOvumMT8mN

30. Give two differences between ionic solids

and covalents solids.

o Watch Video Solution

31. Explain :
The basis of similarities and differences

between metallic and ionic crystal.

o Watch Video Solution



https://dl.doubtnut.com/l/_Cj9uayns9Psx
https://dl.doubtnut.com/l/_V2K9bnytjtsB

32. Explain :

lonic crystals are hard and brittle.

o Watch Video Solution

33. lonic solids conduct electricity in the
molten state but not in the solid state.

Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_N3ztW9ZVwc32
https://dl.doubtnut.com/l/_ZBU03rNZRl5Y

34. Define a unit cell.

o Watch Video Solution

35. What is crystal lattice or space lattice ?

Give significance of lattice point.

o Watch Video Solution

36. Give the significance of a ' lattice point

o Watch Video Solution



https://dl.doubtnut.com/l/_iN3oK93ZTL9z
https://dl.doubtnut.com/l/_auQYxjha1JYu
https://dl.doubtnut.com/l/_qpBYq8WPUJxP

37. What are the primitive and non-primitive

unit cells ?

o Watch Video Solution

38. Define the following terms :

Body centred unit cell

o Watch Video Solution



https://dl.doubtnut.com/l/_qpBYq8WPUJxP
https://dl.doubtnut.com/l/_8Jgm1fLq7KGn
https://dl.doubtnut.com/l/_TC9u5FKslYx0

39. Define the following terms :

Face centred unit cell

o Watch Video Solution

40. Define the following terms :

End centred unit cell

o Watch Video Solution



https://dl.doubtnut.com/l/_lbfqJPVAsYV6
https://dl.doubtnut.com/l/_2E6vJPM5uxhO

41. Distinguish between :

Hexagonal and monoclinic unit cells.

o Watch Video Solution

42.Distinguish between :

Face-centred and end-centred unit cells.

o Watch Video Solution



https://dl.doubtnut.com/l/_j8Je4NJ9EaCe
https://dl.doubtnut.com/l/_k3Pj5Te8tfvz

43. Nitrogen occurs in nature in the form of
two isotopes with atomic mass 14 and 15
respectively. If average atomic mass of
nitrogen is 14.0067, what is the % abundance

of the two isotopes ?

o Watch Video Solution

44. How many lattice point are there in one
unit cell of each of the following lattices ?

face-centred tetragonal

| & I


https://dl.doubtnut.com/l/_yUompvTSnitN
https://dl.doubtnut.com/l/_bdTiqrLBUBRb

| ¥ Watch Video Solution |

45. How many lattice points are there in one

unit cell of body centred cubic

o Watch Video Solution

46. A unit cell consists of a cube in which there
are A atoms at the corners and B atoms at the
face centres and A atoms are missing from
two corners of the each unit cell. What is the

simplest formula of the compound ?


https://dl.doubtnut.com/l/_bdTiqrLBUBRb
https://dl.doubtnut.com/l/_iYYenPO2TTrC
https://dl.doubtnut.com/l/_7PiTIcyDqVai

° Watch Video Solution

47. Explain how much portion of an atom
located at

Corner

° Watch Video Solution

48. Explain how much portion of an atom
located at body center of cubic unit cell is part

of its neighbouring cell.

| e |


https://dl.doubtnut.com/l/_7PiTIcyDqVai
https://dl.doubtnut.com/l/_nJSOYzY1SzwO
https://dl.doubtnut.com/l/_HRbt7qWtX2wG

& watch Video Solution I

49, If three elements P, Q and R crystalline in a
cubic solid lattice with P atoms of the corners,
Q atoms at the cube centres and R atoms at
the centre of the edges, then write the

formula of the compound.

° Watch Video Solution

50. Define co-ordination number

l ° Watch Video Solution


https://dl.doubtnut.com/l/_HRbt7qWtX2wG
https://dl.doubtnut.com/l/_pIEEf8GFx3Wo
https://dl.doubtnut.com/l/_hbb28hGYjLnt

51. B has two isotopes 10B (19%) and 11B( 81%)

.What is the atomic mass of B .

o Watch Video Solution

52. What is the co-ordination nnmber of atoms

in a body centered cnbic structure ?

° Watch Video Solution



https://dl.doubtnut.com/l/_hbb28hGYjLnt
https://dl.doubtnut.com/l/_WDicHiavUSHw
https://dl.doubtnut.com/l/_FXRU9TLXl9ES

53. How will you distinguish between the
following pairs of term ?

Tetrahedral void and octahedral void.

o Watch Video Solution

54. What is the two dimensional co-ordination
number of a molecule in

A square packed layer ?

o Watch Video Solution



https://dl.doubtnut.com/l/_nx5cOcWT6Ygr
https://dl.doubtnut.com/l/_TFE3xUmp5lVd
https://dl.doubtnut.com/l/_egGBuBtM6v0w

55. What is the change that occurs in co-
ordination numlier of NaCl crystal with high

pressure

o Watch Video Solution

56. What is the effect of high pressure on the

structure of ionic solid ?

° Watch Video Solution



https://dl.doubtnut.com/l/_egGBuBtM6v0w
https://dl.doubtnut.com/l/_eplB2tkWE1vK

57. What is the effect of high temperature on

the co-ordination number of CSCI ?

° Watch Video Solution

58. If the radius of the octahedral void is r and
the radius of the atoms in the packing is R,

derive relationship between r and R.

° Watch Video Solution



https://dl.doubtnut.com/l/_WQNJwQkq2E4f
https://dl.doubtnut.com/l/_Kkd5H4VVs9GC

59. Define radius ratio what is the value of

radius ratio for octahedral gemotry ?

° Watch Video Solution

60. In a close packed structure there are N-
spheres, how many tetrahedral voids are

associated with them ?

° Watch Video Solution



https://dl.doubtnut.com/l/_IfTimPpbPtbG
https://dl.doubtnut.com/l/_QWYE2fY3IZOo

61. In a close packed structure there are N-
spheres, how many tetrahedral voids are

associated with them ?

o Watch Video Solution

62. In a close packed structure, there are P-
spheres, how many voids (total) are associated

with them

o Watch Video Solution



https://dl.doubtnut.com/l/_rKtnbH3LTOit
https://dl.doubtnut.com/l/_cVbcft6VAi9q
https://dl.doubtnut.com/l/_tJRSrVZbbchz

63. A compound is formed by two elements in
M and N. The element N forms ccp and atoms
of M occupy 1/3rd of tetrahedral voids. What is

the formula of the compound ?

o Watch Video Solution

64. Atoms of element B form hcp lattice and
those of the element A occupy 2/3rd of
tetrahedral voids. What is the formula of the

compound formed by the elements A and B?

o Watch Video Solution



https://dl.doubtnut.com/l/_tJRSrVZbbchz
https://dl.doubtnut.com/l/_kDwtTxulb7hv

65. What is the coordination number of atoms.

In a cubic close packed structure ?

o Watch Video Solution

66. What is the co-ordination nnmber of atoms

in a body centered cnbic structure ?

o Watch Video Solution



https://dl.doubtnut.com/l/_kDwtTxulb7hv
https://dl.doubtnut.com/l/_wL8kCW1j6gj0
https://dl.doubtnut.com/l/_0ZOvdD9ky8mf

67. A cube solid is made up of two elements P
and Q. Atoms Q are present at the corners of
the cubic and atom P at the body centre. What
is the formula of the compound ? What are

the co-ordination numbers of Pand Q ?

o Watch Video Solution

68. How will you distinguish between the

following pairs of term ?


https://dl.doubtnut.com/l/_Hm2K54FgBN02
https://dl.doubtnut.com/l/_ctnaVXYsZ0Dt

Hexagonal close packing and cubic close

packing in three dimensions.

° Watch Video Solution

69. How will you distinguish between the
following pairs of term ?

Tetrahedral void and octahedral void.

° Watch Video Solution



https://dl.doubtnut.com/l/_ctnaVXYsZ0Dt
https://dl.doubtnut.com/l/_5QWuglfqLTnJ

70. Predict the structure of MgO. The radius of
Mg*™" ion is 65 pm and radius of O? ion is 140

pm Also find the co-ordination number

o Watch Video Solution

71. What is the co-ordination number in hcp

and ccp ?

° Watch Video Solution



https://dl.doubtnut.com/l/_sroC3jNUccq6
https://dl.doubtnut.com/l/_CHUo4qQEHFdW

72. Calculate tbe packing efficiency of a metal

crystal for a simple cubic lattice.

° Watch Video Solution

73. Calculate the efficiency of packing in case

of a metal crystal for face centred cubic lattice.

o Watch Video Solution

74. Write the IUPAC Name of CH3CHCLCH3CHO



https://dl.doubtnut.com/l/_i6z1i8rYqFFW
https://dl.doubtnut.com/l/_joAA8MzlLm7b
https://dl.doubtnut.com/l/_b5APqJJCCegc

o Watch Video Solution

75. Why hcp and ccp are preferred over bcc

packing ?

° Watch Video Solution

76. A compound forms hexagonal close packed
structure. What is- the total number of voids
in 0.5 mol of it? How many .of these are

tetrahedral voids ?

| & I


https://dl.doubtnut.com/l/_b5APqJJCCegc
https://dl.doubtnut.com/l/_fYEE5mNvCTpA
https://dl.doubtnut.com/l/_ePmHMHAwpuA6

| ¥ Watch Video Solution |

77. How can you determine the atomic mass of
an unknown metal if you know its density and
the dimensions of its unit cell ? Explain your

answer.

o Watch Video Solution

78. An element with molar mass 2.7 x 10~ % kg
mol ! forms a cubic unit cell with edge

length 405 pm. If its density is 2.7 x 10°


https://dl.doubtnut.com/l/_ePmHMHAwpuA6
https://dl.doubtnut.com/l/_My5V6lgnZeCk
https://dl.doubtnut.com/l/_6mgvfmq90vaS

kgm ~3, what is the nature of the cubic unit

cell ?

° Watch Video Solution

79. Aluminium crystallises in a cubic close
packed structure. Its metallic radius is 125 pm.

What is the length of the side of the unti cell ?

° Watch Video Solution



https://dl.doubtnut.com/l/_6mgvfmq90vaS
https://dl.doubtnut.com/l/_aEtuzxmqibac

80. Gold (atomic radius=0.144nm) crystallises
in a face-centred unit cell what is the length of

a side of the cell?

o Watch Video Solution

81. Aluminium crystallises in a cubic close
packed structure. Its metallic radius is 125 pm.

What is the length of the side of the unti cell ?

o Watch Video Solution



https://dl.doubtnut.com/l/_5RTDv2u3eEah
https://dl.doubtnut.com/l/_gEM7LOJMFcZY
https://dl.doubtnut.com/l/_I3d45y072Wcl

82. Aluminium crystallises in a cubic close
packed structure. Its metallic radius is 125 pm.
How many unit cells are there in 100 cm® of

aluminium ?

o Watch Video Solution

8. Silver crystallises with face centred cubic
unit cells. Each side of the unit cell has a
length of 409 pm. What is the radius of an
atom of silver ? (Assu!'le that each face atom is

touching the four corner atoms)


https://dl.doubtnut.com/l/_I3d45y072Wcl
https://dl.doubtnut.com/l/_MldoBe29NMOg

° Watch Video Solution

84. Copper (Cu) crystal has fcc. (face centred
cubic) lattice structure. Atomic mass of copper
is 63.5u. Find out density of metallic crystal.

Atomic radius of copper atom is 127.8 pm.

o Watch Video Solution

85. Iron has a body centred cubic unit cell with

the cell dimension of 286.65 pm. Density of


https://dl.doubtnut.com/l/_MldoBe29NMOg
https://dl.doubtnut.com/l/_CtYgBUVqImkR
https://dl.doubtnut.com/l/_TF9Q6xYgzlRG

iron -is 7.87 g cm > Use this information to
calculate Avogadro's number. (Atomic mass of

Fe=56.0 u)

o Watch Video Solution

86. Niobium crystallizes in a body centred
cubic structure. If density is 855 gem ™2,

calculate atomic radius of niobium, given that

its atomic mass is 92.9u.

° Watch Video Solution



https://dl.doubtnut.com/l/_TF9Q6xYgzlRG
https://dl.doubtnut.com/l/_f8Jn2j5ANLmQ
https://dl.doubtnut.com/l/_R2Imcfm86Gwt

87. Silver metal crystallise with a face centred
cubic .lattice. The length of unit cell is found
to be 4.077 x 10~ ®cm. Calculate the atomic
radius and density of silver (Atomic mass of

Ag=108 u, NA = 6.02210**mol .

o Watch Video Solution

88. Which of the following lattices has the
highest packing efficiency ?

I) Simple cubic


https://dl.doubtnut.com/l/_R2Imcfm86Gwt
https://dl.doubtnut.com/l/_mC09zK3lWygM

i) body centred cubic

i) hexagonal close packed lattice

° Watch Video Solution

89. The edge length of NaCl unit cell is 564 pm.
What is the density of NaCl ? The atomic mass
of Na and Cl are 23 and 35.5 respectively. NaCL

has fcc structure.

o Watch Video Solution



https://dl.doubtnut.com/l/_mC09zK3lWygM
https://dl.doubtnut.com/l/_C0mwX2VjLXtU

90. Lead (ll) sulphide crystals has Nacl
structure. What is its density ? The edge
length of its unit cell is 500 pm. (Atomic mass

of Pb =207 =S = 32).

o Watch Video Solution

91. Potassium crystallizes in a body centred
cubic lattice. Calculate the number of unit cells
in 1g of potassium. Atomic mass of potassium

=39u.

| I


https://dl.doubtnut.com/l/_9un0gYsrCeG0
https://dl.doubtnut.com/l/_t9lmIY3FeUGL

| ¥ Watch Video Solution |

92. Sodium crystallizes in 1 bcc unit cell.
CalCulate the approximate no. of unit cells in
9.2 grams of sodium. (Atomic mass of Na = 23

u).

o Watch Video Solution

93. Write the IUPAC Name of CH3CHBrCH2CH3

o Watch Video Solution



https://dl.doubtnut.com/l/_t9lmIY3FeUGL
https://dl.doubtnut.com/l/_0OsbAVHFFwDV
https://dl.doubtnut.com/l/_Vc8LgUHBngWT

94. An element with density 10 g em > forms
a cubic unit cell with edge length of 3 x 10~°
cm.What is the nature of the cubic unit cell if

the atomic mass of the element is 81 g mol ~*

o Watch Video Solution

95. Silver has atomic mass 108 a.m.u. and
density 10.5 g cm 3 If the edge length of its

unit cell is 409 pm, identify the type of unit


https://dl.doubtnut.com/l/_VoBmKWc6dFhh
https://dl.doubtnut.com/l/_QGMxRmdveiu7

cell. Also calculate the radius of an atom of

silver.

° Watch Video Solution

96. Tungsten has body centred cubic lattice.
Each edge of the unit is 316 pm and density of
the metal is 19.35g cm ~°. How many atoms

are present in 50 g of the metal ?

o Watch Video Solution



https://dl.doubtnut.com/l/_QGMxRmdveiu7
https://dl.doubtnut.com/l/_sABHhuSeOljq

97. Sodium Crystallizes in bcc unit cell
Calculate the number of unit cells in 9.2 g of

sodium

o Watch Video Solution

98. Analysis shows that nickel oxide has the

formula Nij930. What fractions of the nickel

exist as Ni2T and Ni®t ions ?

o Watch Video Solution



https://dl.doubtnut.com/l/_rmnNJjrozxC9
https://dl.doubtnut.com/l/_OmEelfw0W49Z
https://dl.doubtnut.com/l/_Mk74pJGf3yJv

99. Analysis shows that nickel oxide has the

formula Nij930. What fractions of the nickel

exist as Ni2T and Ni®T ions ?

o Watch Video Solution

100. Define point defects.

o Watch Video Solution



https://dl.doubtnut.com/l/_Mk74pJGf3yJv
https://dl.doubtnut.com/l/_7qQ2GwspvE8r

101. Define the following :

Vacancy defect

o Watch Video Solution

102. Define the following :

Interstitial defect

o Watch Video Solution



https://dl.doubtnut.com/l/_UpMYucQZF4o8
https://dl.doubtnut.com/l/_idYneAcOI5sN

103. What do you understand by imperfections
in ionic crystals ? Name the type of

imperfections which occur in ionic crystals.

o Watch Video Solution

104. Explain the Schottky defects in crystals.

o Watch Video Solution



https://dl.doubtnut.com/l/_ET0VtEyer7gw
https://dl.doubtnut.com/l/_QVxriSu7MxAE

105. What are the consequences of Schottky

defects ?

° Watch Video Solution

106. Write the IUPAC Name of CH3CHNO2COOH

° Watch Video Solution

107. What are the conditions which favour the

presence of Frenkel defects in the crystal ?



https://dl.doubtnut.com/l/_zIpkmjljvh7Q
https://dl.doubtnut.com/l/_khQM3UnCvPxq
https://dl.doubtnut.com/l/_Z8yDIDQbPYNG

o Watch Video Solution

108. What are Frenkel defects ? Discuss

o Watch Video Solution

109. What are the consequences of Frenkel

defects ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Z8yDIDQbPYNG
https://dl.doubtnut.com/l/_vDgPORkTjsYK
https://dl.doubtnut.com/l/_nPoputrZfNz3

110. Name the compound which can show both

Schottky and Frenkel defect.

o Watch Video Solution

111. Write two main differences between

Schottky and Frenkel defect.

o Watch Video Solution



https://dl.doubtnut.com/l/_WQb1DaIssVm9
https://dl.doubtnut.com/l/_DgDPaKNbvCEO

112. Non-stoichiometric cuprous oxide (Cu50)
can be prepared in the laboratory. In this
oxide, copper to oxygen ratio is sloghtly less
than 2 : 1 can you account for the fact that this

substance is p-type semiconductor

o Watch Video Solution

113. What type of defect can arise when a solid
is heated ? Which physical property is affected

by it and in what way ?

| & I


https://dl.doubtnut.com/l/_vjhYVuvHNeKh
https://dl.doubtnut.com/l/_zL4QRJrFBis1

| ¥ Watch Video Solution |

14. What type of stoichiometric defect is

shown by ZnS?

° Watch Video Solution

15. What type of stoichiometric defect is
shown by

AgBr

° Watch Video Solution



https://dl.doubtnut.com/l/_zL4QRJrFBis1
https://dl.doubtnut.com/l/_i27bXlR0uVSS
https://dl.doubtnut.com/l/_0U8jsOpdnmBo

116. Carbon occurs in nature in the form of two
isotopes with atomic mass 12 and 13
respectively. If average atomic mass of carbon
is 12.011 u , what is the % abundance of the

two isotopes ?

o Watch Video Solution

117. Find the equivalent weight of CaCO3

o Watch Video Solution



https://dl.doubtnut.com/l/_lKTaUfYnMt6S
https://dl.doubtnut.com/l/_qsYlM5zVk42l
https://dl.doubtnut.com/l/_SsU2HFEe2HmW

118. What are F-centres ?

o Watch Video Solution

119. Find the equivalent weight of : K2S04

o Watch Video Solution

120. Explain the metal excess defects due to

extra cation in the interstitial sites

o Watch Video Solution



https://dl.doubtnut.com/l/_SsU2HFEe2HmW
https://dl.doubtnut.com/l/_caToMbJqnebF
https://dl.doubtnut.com/l/_rVYzVd1fgrKS

121. What is the equivalent weight of hydride

of metal if equivalent weight of its oxide is 20

?

o Watch Video Solution

122. Find the percentage of calcium in calcium

carbonate.

o Watch Video Solution



https://dl.doubtnut.com/l/_rVYzVd1fgrKS
https://dl.doubtnut.com/l/_HFGdfZLizWdQ
https://dl.doubtnut.com/l/_4opQvZ3Z7kvG
https://dl.doubtnut.com/l/_60zdvrd8YAaX

123. Calculate the percentage of sulphur in

sulphuric acid .

° Watch Video Solution

124. Calculate the percentage of carbon in

methanol.

o Watch Video Solution

125. If NaCl is doped with 10~ mol% of SrC1I,

what is the concentration of cation vacancies?


https://dl.doubtnut.com/l/_60zdvrd8YAaX
https://dl.doubtnut.com/l/_hN0RtfRhDIQ3
https://dl.doubtnut.com/l/_BBPXp9YcmADW

° Watch Video Solution

126. What are conductors ? Give their different

types.

o Watch Video Solution

127. What are metallic conductors ?

o Watch Video Solution



https://dl.doubtnut.com/l/_BBPXp9YcmADW
https://dl.doubtnut.com/l/_7becnOwwzZUr
https://dl.doubtnut.com/l/_z3XW2epYi26a

128. What are semi conductors ? Explain with

example

o Watch Video Solution

129. Describe the two main

semiconductors.

types

of

o Watch Video Solution

130. What is doping ?



https://dl.doubtnut.com/l/_hbxVS9aXgjdL
https://dl.doubtnut.com/l/_fKP9PIhrbPwF
https://dl.doubtnut.com/l/_6Zh2eldWWIMm

o Watch Video Solution

131. What is the effect of increase in
temperature on the electrical conductivity of

different type of conductors?

o Watch Video Solution

132. The electrical conductivity of metal
decreases with rise in temperature, while that

of a semiconductor increases. Explain

| & I


https://dl.doubtnut.com/l/_6Zh2eldWWIMm
https://dl.doubtnut.com/l/_NJbof4Dh2cGi
https://dl.doubtnut.com/l/_4RdVFf3w91QE

| ¥ Watch Video Solution |

133. What is the simplest formula of the
compound which has the following
percentage composition carbon 80% ,
hydrogen 20% , if the molecular mass is 30.

calculate its molecular formula ?

o Watch Video Solution

134. Identify each of the following as being a p-

type and n-type semi-conductor.


https://dl.doubtnut.com/l/_4RdVFf3w91QE
https://dl.doubtnut.com/l/_AOPHPQDceqeV
https://dl.doubtnut.com/l/_wulH95WTdl9q

Ge doped with In

o Watch Video Solution

135. Classify each of the following as being
either a p-type or n -type semiconductor:

B doped with Si

o Watch Video Solution

136. A Group 14 element is to be converted

into n-type semiconductor by doping it with a


https://dl.doubtnut.com/l/_wulH95WTdl9q
https://dl.doubtnut.com/l/_Et0s44vZccJf
https://dl.doubtnut.com/l/_pDOnru1pa1ok

suitable impurity. To which group should this

impurity belong ?

° Watch Video Solution

137. What is energy gap in Band theory?
Compare its size in conductors,
semiconductors and insulators.

Or

Define the 'Forbidden zone' of an insulator.

° Watch Video Solution



https://dl.doubtnut.com/l/_pDOnru1pa1ok
https://dl.doubtnut.com/l/_NJWnl9teG4SI
https://dl.doubtnut.com/l/_lxfbFD5hOK1g

138. A compound on analysis gave the
following results C = 54.54% , H=9.09% and rest
is oxygen and vapour density of the
compound = 88. Determine the molecular

formula of the compound.

° Watch Video Solution

139. In terms of band theory, what is the
difference: between a condutor and a

semiconductor?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_lxfbFD5hOK1g
https://dl.doubtnut.com/l/_EzxflPaX2Jaf

140. Calculate number of moles in 48g of NH3

° Watch Video Solution

141. What are dia and paramagnetic

substances?

o Watch Video Solution



https://dl.doubtnut.com/l/_EzxflPaX2Jaf
https://dl.doubtnut.com/l/_8pjiOXCN6WIx
https://dl.doubtnut.com/l/_bG9F58HIU2Bj

142. What is paramagnetic substance ? Give

one example.

° Watch Video Solution

143. What are ferromagnetic substances?
Explain briefly domain theory to explain

ferromagnetism?

° Watch Video Solution



https://dl.doubtnut.com/l/_RcC39fUPlgpB
https://dl.doubtnut.com/l/_KunLpQrc09tw

144. What is the cause of ferromagnetic

character

o Watch Video Solution

145. What are anti-ferromagnetic substances?

Give one example.

o Watch Video Solution



https://dl.doubtnut.com/l/_vvfKQH2Jsjyg
https://dl.doubtnut.com/l/_Znn1iU8Coyyh

146. What are ferrimagnetic substances ? Give

examples

° Watch Video Solution

147. What type of substances would make
better permanent magnets, ferromagnetic or

ferrimagnetic. Justify your answer.

° Watch Video Solution



https://dl.doubtnut.com/l/_QdDjQCxE3oJM
https://dl.doubtnut.com/l/_47nhEJA1S17L

148. Define the following :
Antiferromagnetic substances and

antiferromagnetism

o Watch Video Solution

149. Give important characteristics of solid

state.

o Watch Video Solution



https://dl.doubtnut.com/l/_pF7MC00ddcRT
https://dl.doubtnut.com/l/_uMkMIlRBTuMa

150. Give important differences between

crystalline and amorphous solids.

o Watch Video Solution

151. Define the term amorphous. Give a few

examples of amorphous solids.

o Watch Video Solution

152. What is anisotropy ?



https://dl.doubtnut.com/l/_P6NYG0Fz3SO4
https://dl.doubtnut.com/l/_tSQTfeJcwr8o
https://dl.doubtnut.com/l/_lmn3UGdAKluF

o Watch Video Solution

153. What makes a glass different from a solid
such as quartz ? Under what conditions could

quartz be converted into glass ?

o Watch Video Solution

154. Name the binding forces in molecular

solids.

o Watch Video Solution



https://dl.doubtnut.com/l/_lmn3UGdAKluF
https://dl.doubtnut.com/l/_eh8nEpB0c8F0
https://dl.doubtnut.com/l/_ZW2E7C1PASqC

155. Name the binding forces in ionic solids.

o Watch Video Solution

156. Name the binding forces in covalent

solids.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZW2E7C1PASqC
https://dl.doubtnut.com/l/_hXNu4YkcQnc8
https://dl.doubtnut.com/l/_B77785pLjpM3

157. Classify crystalline solids on the basis of
nature of forces among the constituent

particles.

o Watch Video Solution

158. Classify each of the following solids as
ionic, metallic, molecular, network (Covalent)
or amorphous.

Tetra phosphorous decoxide (P,O1)

° Watch Video Solution



https://dl.doubtnut.com/l/_68oWV8NB2tC5
https://dl.doubtnut.com/l/_vLDGU5aF5kyb

159. Classify each of the following solids as
ionic, metallic, molecular, network (Covalent)
or amorphous.

Graphite

o Watch Video Solution

160. Classify each of the following solids as
ionic, metallic, molecular, network (Covalent)
or amorphous.

Brass


https://dl.doubtnut.com/l/_vLDGU5aF5kyb
https://dl.doubtnut.com/l/_AFtJVxKbZf22
https://dl.doubtnut.com/l/_Kzf4HzcrKihO

° Watch Video Solution

161. Classify each of the following solids as
ionic, metallic, molecular, network (Covalent)
or amorphous.

Ammonium phosphate (NH,) PO,

o Watch Video Solution

162. Classify each of the following solids as

ionic, metallic, molecular, network (Covalent)


https://dl.doubtnut.com/l/_Kzf4HzcrKihO
https://dl.doubtnut.com/l/_bo3qu26dfeIl
https://dl.doubtnut.com/l/_RcyoJxoK8xFE

or amorphous.

SiC

° Watch Video Solution

163. Classify each of the following solids as
ionic, metallic, molecular, Covalent

Rb

° Watch Video Solution



https://dl.doubtnut.com/l/_RcyoJxoK8xFE
https://dl.doubtnut.com/l/_CVLGvHUwvpaP

164. Classify each of the following solids as
ionic, metallic, molecular, network (Covalent)

or amorphous.

I

o Watch Video Solution

165. Classify each of the following solids as
ionic, metallic, molecular, network (Covalent)
or amorphous.

LiBr

| & I


https://dl.doubtnut.com/l/_ALhz1Np6Er89
https://dl.doubtnut.com/l/_RGDuYck8Rp8f

| ¥ Watch Video Solution |

166. Classify each of the following solids as
ionic, metallic, molecular, network (Covalent)

or amorphous.

Py

° Watch Video Solution

167. Classify each of the following solids as

ionic, metallic, molecular, network (Covalent)


https://dl.doubtnut.com/l/_RGDuYck8Rp8f
https://dl.doubtnut.com/l/_zz3Sk3VWkEXs
https://dl.doubtnut.com/l/_7DN9zLneCyKW

or amorphous.

Si

° Watch Video Solution

168. Classify each of the following solids as
ionic, metallic, molecular, network (Covalent)
or amorphous.

Plastic

o Watch Video Solution



https://dl.doubtnut.com/l/_7DN9zLneCyKW
https://dl.doubtnut.com/l/_elvFjrtBEnx9

169. What type of solids are electrical

conductors, malleable and ductile ?

° Watch Video Solution

170. Solid which is very hard, electrical
insulator in solid as well as in molten state
and melts at extremely high temperature.

What type of solid is it ?

o Watch Video Solution



https://dl.doubtnut.com/l/_FuBhdmm7yWYZ
https://dl.doubtnut.com/l/_msJBLfpiqs1h
https://dl.doubtnut.com/l/_AggGAVVkInVD

171. Stability of a crystal is reflected in the

magnitude of its melting point. Comment

o Watch Video Solution

172. Collect the melting point of

Ice

o Watch Video Solution



https://dl.doubtnut.com/l/_AggGAVVkInVD
https://dl.doubtnut.com/l/_Z4cum5GOW6Op

173. Collect the melting point of

Ethyl alcohol

o Watch Video Solution

174. Collect the melting point of

diethylether

o Watch Video Solution



https://dl.doubtnut.com/l/_Z1ey5uWHCvCy
https://dl.doubtnut.com/l/_gvlEAML1o5eu

175. Collect the melting point of

methane from a databook

o Watch Video Solution

176. What can you say about inter molecular

forces between the molecules ?

o Watch Video Solution



https://dl.doubtnut.com/l/_HzGDCSmK3i3p
https://dl.doubtnut.com/l/_nF423HCXeswB

177. Write two differences between molecular

solids and covalent solids .

o Watch Video Solution

178. Give two differences between ionic solids

and covalents solids.

o Watch Video Solution



https://dl.doubtnut.com/l/_SBxI9QOavNx5
https://dl.doubtnut.com/l/_NXj7WKqizwpr

179. Explain :
The basis of similarities and differences

between metallic and ionic crystal.

o Watch Video Solution

180. Explain :

lonic crystals are hard and brittle.

o Watch Video Solution



https://dl.doubtnut.com/l/_LaDTfPWsEzTJ
https://dl.doubtnut.com/l/_DLVTnbuY4qOa

181. lonic solids conduct electricity in the
molten state but not in the solid state.

Explain.

o Watch Video Solution

182. Define a unit cell.

o Watch Video Solution



https://dl.doubtnut.com/l/_w682oHXej85o
https://dl.doubtnut.com/l/_pMuKEaAZttXv

183. What is crystal lattice or space lattice ?

Give significance of lattice point.

o Watch Video Solution

184. Give the significance of a ' lattice point

o Watch Video Solution

185. What are the primitive and non-primitive

unit cells ?



https://dl.doubtnut.com/l/_IPyPU7XpDJJT
https://dl.doubtnut.com/l/_H1LDOk7et2KL
https://dl.doubtnut.com/l/_x9UeeAfAyxdP

o Watch Video Solution

186. Define the following terms :

Body centred unit cell

o Watch Video Solution

187. Define the following terms :

Face centred unit cell

o Watch Video Solution



https://dl.doubtnut.com/l/_x9UeeAfAyxdP
https://dl.doubtnut.com/l/_GwB06ETPfRdC
https://dl.doubtnut.com/l/_Kyaze9sEOyzI
https://dl.doubtnut.com/l/_kIJpf1jpBiwY

188. Define the following terms :

End centred unit cell

o Watch Video Solution

189. Distinguish between :

Hexagonal and monoclinic unit cells.

o Watch Video Solution



https://dl.doubtnut.com/l/_kIJpf1jpBiwY
https://dl.doubtnut.com/l/_9kaGBPB7Va3K

190. Distinguish between :

Face-centred and end-centred unit cells.

o Watch Video Solution

191. How many lattice point are there in one
unit cell of each of the following lattices ?

face-centred tetragonal

o Watch Video Solution



https://dl.doubtnut.com/l/_XJWOJkBEAWE9
https://dl.doubtnut.com/l/_y4vE7W5EQUri

192. How many lattice point are there in one
unit cell of each of the following lattices ?

face-centred tetragonal

o Watch Video Solution

193. How many lattice points are there in one

unit cell of body centred cubic

° Watch Video Solution



https://dl.doubtnut.com/l/_TQUvcsaGMTNW
https://dl.doubtnut.com/l/_6j6xMhfG7sI9

194. A unit cell consists of a cube in which
there are A atoms at the corners and B atoms
at the face centres and A atoms are missing
from two corners of the each unit cell. What is

the simplest formula of the compound ?

o Watch Video Solution

195. Explain how much portion of an atom
located at

Corner

| I


https://dl.doubtnut.com/l/_rXoIwBeu8JD1
https://dl.doubtnut.com/l/_M8Lta462wYvT

| ¥ Watch Video Solution |

196. Explain how much portion of an atom
located at body center of cubic unit cell is part

of its neighbouring cell.

o Watch Video Solution

197. If three elements P, Q and R crystalline in a
cubic solid lattice with P atoms of the corners,

Q atoms at the cube centres and R atoms at


https://dl.doubtnut.com/l/_M8Lta462wYvT
https://dl.doubtnut.com/l/_TACoBZcHDbfS
https://dl.doubtnut.com/l/_FKASIFdl6P6n

the centre of the edges, then write the

formula of the compound.

° Watch Video Solution

198. Define co-ordination number

° Watch Video Solution

199. What is the coordination number of
atoms.

In a cubic close packed structure ?


https://dl.doubtnut.com/l/_FKASIFdl6P6n
https://dl.doubtnut.com/l/_wRmwPtS2yn2T
https://dl.doubtnut.com/l/_VKj5mO6vvHBv

° Watch Video Solution

200. What is the co-ordination nnmber of
atoms

in a body centered cnbic structure ?

° Watch Video Solution

201. How will you distinguish between the
following pairs of term ?

Tetrahedral void and octahedral void.

| & |


https://dl.doubtnut.com/l/_VKj5mO6vvHBv
https://dl.doubtnut.com/l/_FvRgm8gfVLdR
https://dl.doubtnut.com/l/_JpsYkuq9M6TZ

& Wwatch Video Solution I

202. What is the two dimensional co-
ordination number of a molecule in

A square packed layer ?

° Watch Video Solution

203. What is the change that occurs in co-
ordination numlier of NaCl crystal with high

pressure

l ° Watch Video Solution


https://dl.doubtnut.com/l/_JpsYkuq9M6TZ
https://dl.doubtnut.com/l/_KI0uZTemk1aV
https://dl.doubtnut.com/l/_p4XbRQ3mF6W5

204. What is the effect of high pressure on the

structure of ionic solid ?

o Watch Video Solution

205. What is the effect of high temperature on

the co-ordination number of CSCI ?

° Watch Video Solution



https://dl.doubtnut.com/l/_p4XbRQ3mF6W5
https://dl.doubtnut.com/l/_3qOWnvSzr6dv
https://dl.doubtnut.com/l/_TojgHMzOaShs

206. If the radius of the octahedral void is r
and the radius of the atoms in the packing is

R, derive relationship between r and R.

o Watch Video Solution

207. Define radius ratio what is the value of

radius ratio for octahedral gemotry ?

o Watch Video Solution



https://dl.doubtnut.com/l/_wJssGle5Ltxk
https://dl.doubtnut.com/l/_ci18YCy6t3Io

208. In a close packed structure there are N-
spheres, how many tetrahedral voids are

associated with them ?

o Watch Video Solution

209. In a close packed structure, there are M-
spheres, how many octahedral voids are

associated with them ?

o Watch Video Solution



https://dl.doubtnut.com/l/_xmMnM4sUdVET
https://dl.doubtnut.com/l/_JKVm9mF4c3GP
https://dl.doubtnut.com/l/_r2lPHP2bhNMR

210. In a close packed structure, there are P-
spheres, how many voids (total) are associated

with them

o Watch Video Solution

211. A compound is formed by two elements in
M and N. The element N forms ccp and atoms
of M occupy 1/3rd of tetrahedral voids. What is

the formula of the compound ?

o Watch Video Solution



https://dl.doubtnut.com/l/_r2lPHP2bhNMR
https://dl.doubtnut.com/l/_cMS1utAi6BlA

212. What is the formula of a Compound in
which the element Y forms hcp lattice and

atoms of X occupy 2/3 rd of tetrahedral voids?

o Watch Video Solution

213. What is the coordination number of
atoms.

In a cubic close packed structure ?

o Watch Video Solution



https://dl.doubtnut.com/l/_7zEJsjRTK8Vo
https://dl.doubtnut.com/l/_RGe3DNgIJP33
https://dl.doubtnut.com/l/_abesLVQPYfBw

214. What is the co-ordination nnmber of
atoms

in a body centered cnbic structure ?

o Watch Video Solution

215. A cube solid is made up of two elements P
and Q. Atoms Q are present at the corners of
the cubic and atom P at the body centre. What
is the formula of the compound ? What are

the co-ordination numbers of Pand Q ?

o Watch Video Solution



https://dl.doubtnut.com/l/_abesLVQPYfBw
https://dl.doubtnut.com/l/_8PrBel7eRAu4

216. How will you distinguish between the
following pairs of term ?
Hexagonal close packing and cubic close

packing in three dimensions.

o Watch Video Solution

217. How will you distinguish between the
following pairs of term ?

Tetrahedral void and octahedral void.

| = 1


https://dl.doubtnut.com/l/_8PrBel7eRAu4
https://dl.doubtnut.com/l/_taoOOOXfzUT8
https://dl.doubtnut.com/l/_u62oeYXppRUA

I &9 Watch Video Solution I

218. Predict the structure of MgO. The radius
of Mg*" ion is 65 pm and radius of O? ion is

140 pm Also find the co-ordination number

o Watch Video Solution

219. What is the co-ordination number in hcp

and ccp ?

o Watch Video Solution



https://dl.doubtnut.com/l/_u62oeYXppRUA
https://dl.doubtnut.com/l/_hU2LQj7yKND3
https://dl.doubtnut.com/l/_TxsMFcTrTRrv

220. Calculate tbe packing efficiency of a metal

crystal for a simple cubic lattice.

° Watch Video Solution

221. Calculate the efficiency of packing in case

of a metal crystal for face centred cubic lattice.

o Watch Video Solution



https://dl.doubtnut.com/l/_HMWcuZMVYx4G
https://dl.doubtnut.com/l/_rrnO9hXYrFIT

222, Calculate the efficiency of packing in case
of a metal crystal for body centred cubic

lattice.

o Watch Video Solution

223. Why hcp and ccp are preferred over bcc

packing ?

o Watch Video Solution



https://dl.doubtnut.com/l/_qgNsiHqjBFVS
https://dl.doubtnut.com/l/_tUJxcymdmgXn

224. A compound forms hexagonal close
packed structure. What is- the total number of
voids in 0.5 mol of it? How many .of these are

tetrahedral voids ?

o Watch Video Solution

225. How can you determine the atomic mass
of an unknown metal if you know its density
and the dimensions of its unit cell ? Explain

your answer.

| & I


https://dl.doubtnut.com/l/_xMP0v3oNjHho
https://dl.doubtnut.com/l/_gl9JLoJv2k5Y

| ¥ Watch Video Solution |

226. An element with molar mass 2.7 x 102
kg mol ! forms a cubic unit cell with edge
length 405 pm. If its density is 2.7 x 10°
kgm >, what is the nature of the cubic unit

cell ?

o Watch Video Solution

227. Aluminium crystallises in a cubic close

packed structure. Its metallic radius is 125 pm.


https://dl.doubtnut.com/l/_gl9JLoJv2k5Y
https://dl.doubtnut.com/l/_kOPTOJA328qB
https://dl.doubtnut.com/l/_CWHmAWObjOnj

What is the length of the side of the unti cell ?

o Watch Video Solution

228. Gold (atomic radius=0.144nm) crystallises
in a face-centred unit cell what is the length of

a side of the cell?

o Watch Video Solution

229. Aluminium crystallises in a cubic close

packed structure. Its metallic radius is 125 pm.


https://dl.doubtnut.com/l/_CWHmAWObjOnj
https://dl.doubtnut.com/l/_Ln3tHDu2NZag
https://dl.doubtnut.com/l/_QbKjmKy5BxEO

What is the length of the side of the unti cell ?

o Watch Video Solution

230. Aluminium crystallises in .a cubic close
packed structure. Its metallic radius is 125 pm.
How many unit cell are there in 1.00 cm3 of

aluminium ?

° Watch Video Solution



https://dl.doubtnut.com/l/_QbKjmKy5BxEO
https://dl.doubtnut.com/l/_y7PsR2In59Al

231. Discuss the term- emulsions and their

types?

° Watch Video Solution

232. Copper (Cu) crystal has fcc. (face centred
cubic) lattice structure. Atomic mass of copper
is 63.5u. Find out density of metallic crystal.

Atomic radius of copper atom is 127.8 pm.

o Watch Video Solution



https://dl.doubtnut.com/l/_YjZZITHEzEQe
https://dl.doubtnut.com/l/_Brup7UfZ8vgo
https://dl.doubtnut.com/l/_PoYswTHsBvDz

233. Iron has a body centred cubic unit cell
with the cell dimension of 286.65 pm. Density
of iron 'is 787 g cm ~* Use this information to
calculate Avogadro's number. (Atomic mass of

Fe=56.0 u)

o Watch Video Solution

234. Write any two applications of emulsions?

o Watch Video Solution



https://dl.doubtnut.com/l/_PoYswTHsBvDz
https://dl.doubtnut.com/l/_rLwpRAqNkh4S
https://dl.doubtnut.com/l/_nUfmvYV5nKBM

235. Define the term- Gelation?

o Watch Video Solution

236. Which of the following lattices has the
highest packing efficiency ?

i) Simple cubic

i) body centred cubic

i) hexagonal close packed lattice

o Watch Video Solution



https://dl.doubtnut.com/l/_nUfmvYV5nKBM
https://dl.doubtnut.com/l/_6JRCc4myEROV

237. The edge length of NaCl unit cell is 564
pm. What is the density of NaCl ? The atomic
mass of Na and Cl are 23 and 35.5 respectively.

NaCL has fcc structure.

° Watch Video Solution

238. Name two drugs which helps to prevent
the production of hydrochloric acid in the

stomach?

° Watch Video Solution



https://dl.doubtnut.com/l/_37MPcTObQfV1
https://dl.doubtnut.com/l/_DJteMibQCAz0

239. Potassium crystallizes in a body centred
cubic lattice. Calculate the number of unit cells

in 1g of potassium. Atomic mass of potassium

=39u.

o Watch Video Solution

240. Sodium crystallizes in i bcc unit cell.
CalCulate the approximate no. of unit cells in
9.2 grams of sodium. (Atomic mass of Na = 23

u).


https://dl.doubtnut.com/l/_DJteMibQCAz0
https://dl.doubtnut.com/l/_9IzDYNQhjljc
https://dl.doubtnut.com/l/_Jj5KryfwDVZt

° Watch Video Solution

241. An element 'X' with an atomic mass of
60/g mol has density of 6.23gcm . If the
edge length of its unit cell is 400 pm, identity
the type of cell. Also calculate the radius of an

atom of this element.

° Watch Video Solution



https://dl.doubtnut.com/l/_Jj5KryfwDVZt
https://dl.doubtnut.com/l/_pYF1LqYbWmXc

242. An element with density 10 g em ~ 2 forms
a cubic unit cell with edge length of 3 x 10~°
cm.What is the nature of the cubic unit cell if

the atomic mass of the element is 81 g mol ~*

° Watch Video Solution

243. Name two antidepressant Drugs?

° Watch Video Solution



https://dl.doubtnut.com/l/_40fodmoZ36xC
https://dl.doubtnut.com/l/_3tsS56oo6I8S

244. Tungsten has body centred cubic lattice.
Each edge of the unit is 316 pm and density of
the metal is 19.35g cm ~°. How many atoms

are present in 50 g of the metal ?

o Watch Video Solution

245. An element with density 10 g cm ~° forms
a cubic unit cell with edge length of 3 x 10~°
cm.What is the nature of the cubic unit cell if

the atomic mass of the element is 81 g mol ~*

| & |


https://dl.doubtnut.com/l/_2bdYKSe4rFeD
https://dl.doubtnut.com/l/_7dUp8aurqFSt

| ¥ Watch Video Solution |

246. Analysis shows that metal oxide has
formnla M 90199 What fractions of the

metal exist as M21 and M3 ™

o Watch Video Solution

247. Analysis shows that nickel oxide has the
formula Nij930. What fractions of the nickel

exist as Ni2T and Ni®T ions ?

o Watch Video Solution



https://dl.doubtnut.com/l/_7dUp8aurqFSt
https://dl.doubtnut.com/l/_UIS2xDAtdfVG
https://dl.doubtnut.com/l/_zA1RlvFZ903o

248. Define point defects.

o Watch Video Solution

249. Define the following :

Vacancy defect

o Watch Video Solution



https://dl.doubtnut.com/l/_zA1RlvFZ903o
https://dl.doubtnut.com/l/_0EnJdgxU8bV1
https://dl.doubtnut.com/l/_FcwmaaNB8Aeq

250. Define the following :

Interstitial defect

° Watch Video Solution

251. What do you understand by imperfections
in ionic crystals ? Name the type of

imperfections which occur in ionic crystals.

° Watch Video Solution



https://dl.doubtnut.com/l/_9Ct0m2oK4Ek9
https://dl.doubtnut.com/l/_tNcIBwigjJKq

252. Explain the Schottky defects in crystals.

o Watch Video Solution

253. What are the consequences of Schottky

defects ?

o Watch Video Solution

254. Which point defect lowers the density of

crystal ?



https://dl.doubtnut.com/l/_Lu3lfx1qGcF3
https://dl.doubtnut.com/l/_2Tv64XLT2xJ3
https://dl.doubtnut.com/l/_juE53Avog2kq

o Watch Video Solution

255. What are the conditions which favour the

presence of Frenkel defects in the crystal ?

o Watch Video Solution

256. What are Frenkel defects ? Discuss

o Watch Video Solution



https://dl.doubtnut.com/l/_juE53Avog2kq
https://dl.doubtnut.com/l/_xliAD5T3x1qS
https://dl.doubtnut.com/l/_raMIKyXZGKW3

257. What are the consequences of Frenkel

defects ?

o Watch Video Solution

258. Name the compound which can show

both Schottky and Frenkel defect.

o Watch Video Solution



https://dl.doubtnut.com/l/_BcsyY6DUT0ZH
https://dl.doubtnut.com/l/_bbLbu54bbZ0C

259. Write two main differences between

Schottky and Frenkel defect.

o Watch Video Solution

260. Non-stoichiometric  cuprous oxide
(Cuq0) can be prepared in the laboratory. In
this oxide, copper to oxygen ratio is sloghtly
less than 2 : 1 can you account for the fact that

this substance is p-type semiconductor

o Watch Video Solution



https://dl.doubtnut.com/l/_PjX0SBHg4Utm
https://dl.doubtnut.com/l/_a9ToBujt8IlP

261. What type of defect can arise when a solid
is heated ? Which physical property is affected

by it and in what way ?

° Watch Video Solution

262. What type of stoichiometric defect is

shown by ZnS?

o Watch Video Solution



https://dl.doubtnut.com/l/_a9ToBujt8IlP
https://dl.doubtnut.com/l/_ugJQYfw1iTWZ
https://dl.doubtnut.com/l/_o1eJpvVENOIR
https://dl.doubtnut.com/l/_6lvcMHNsgp9j

263. What type of stoichiometric defect is
shown by

AgBr

o Watch Video Solution

264. What are metal deficiency defects ?

o Watch Video Solution

265. What are the consequences of metal

excess defects ?


https://dl.doubtnut.com/l/_6lvcMHNsgp9j
https://dl.doubtnut.com/l/_Xztpui2IX0g9
https://dl.doubtnut.com/l/_ThXHEZZMwSie

° Watch Video Solution

266. What are F-centres ?

° Watch Video Solution

267. Explain how vacancies are introduced in
an ionic solid when a cation of higher valence

is added as an impurity in it.

° Watch Video Solution



https://dl.doubtnut.com/l/_ThXHEZZMwSie
https://dl.doubtnut.com/l/_pizFEOKSDbVM
https://dl.doubtnut.com/l/_MTohBMkpyvjp
https://dl.doubtnut.com/l/_QDGuR5cV3zh2

268. Explain the metal excess defects due to

extra cation in the interstitial sites

o Watch Video Solution

269. What are anion vacancies ? Discuss.

o Watch Video Solution

270. lonic solids, which have anionic vacancies

due to metal excess defect, develop colour.


https://dl.doubtnut.com/l/_QDGuR5cV3zh2
https://dl.doubtnut.com/l/_rvrjRya6P6hl
https://dl.doubtnut.com/l/_iU5e7fgljAWb

Explain with the help of a suitable example.

o Watch Video Solution

271. Explain the metal excess defects due to

extra cation in the interstitial sites

° Watch Video Solution

272. Explain the metal excess defects due to

extra cation in the interstitial sites

o Watch Video Solution



https://dl.doubtnut.com/l/_iU5e7fgljAWb
https://dl.doubtnut.com/l/_zay6AcLOOieC
https://dl.doubtnut.com/l/_q2rlx3aahSd9

273. If NaCl is doped with 1073 mol% of
SrC1, what is the concentration of cation

vacancies?

o Watch Video Solution

274. What are conductors ? Give their different

types.

° Watch Video Solution



https://dl.doubtnut.com/l/_q2rlx3aahSd9
https://dl.doubtnut.com/l/_rgvpVM8vXzSU
https://dl.doubtnut.com/l/_njiiaiJyAXWI
https://dl.doubtnut.com/l/_zxGZn42wJHZS

275. What are metallic conductors ?

° Watch Video Solution

276. What are semi conductors ? Explain with

example

o Watch Video Solution

277. Describe the two main types of

semiconductors.

| |


https://dl.doubtnut.com/l/_zxGZn42wJHZS
https://dl.doubtnut.com/l/_Z0hYCBF9IjBX
https://dl.doubtnut.com/l/_vrvK0Z7JVWBm

& Watch Video Solution I

278. What is doping ?

° Watch Video Solution

279. What is the effect of increase in
temperature on the electrical conductivity of

different type of conductors?

° Watch Video Solution



https://dl.doubtnut.com/l/_vrvK0Z7JVWBm
https://dl.doubtnut.com/l/_LIa0xTAu9XBk
https://dl.doubtnut.com/l/_LbEZcWTwsKOz
https://dl.doubtnut.com/l/_a0PG8oUkYoin

280. The electrical conductivity of metal
decreases with rise in temperature, while that

of a semiconductor increases. Explain

° Watch Video Solution

281. What is the effect of temperature and

pressure on viscosity of liquid and gases?

o Watch Video Solution



https://dl.doubtnut.com/l/_a0PG8oUkYoin
https://dl.doubtnut.com/l/_n0FnOXa0fL0X

282. Classify each of the following as being
either a p-type or n -type semiconductor:

B doped with Si

o Watch Video Solution

283. Classify each of the following as being
either a p-type or n -type semiconductor:

B doped with Si

o Watch Video Solution



https://dl.doubtnut.com/l/_JFTD1fpOmmlU
https://dl.doubtnut.com/l/_Q0RLGl2ZpaBO
https://dl.doubtnut.com/l/_0DQbZgjrIkuO

284. A Group 14 element is to be converted
into n-type semiconductor by doping it with a
suitable impurity. To which group should this

impurity belong ?

o Watch Video Solution

285. What is energy gap in Band theory?
Compare its size in conductors,
semiconductors and insulators.

Or

Define the 'Forbidden zone' of an insulator.


https://dl.doubtnut.com/l/_0DQbZgjrIkuO
https://dl.doubtnut.com/l/_fyeNhyl747WN

° Watch Video Solution

286. In terms of band theory, what is the
difference: between a conductor and an

insulator

° Watch Video Solution

287. In terms of band theory, what is the
difference: between a condutor and a

semiconductor?

| e |


https://dl.doubtnut.com/l/_fyeNhyl747WN
https://dl.doubtnut.com/l/_ntbUeVEvULvR
https://dl.doubtnut.com/l/_v39nPAOx0O8D

& Wwatch Video Solution I

288. Explain the following with suitable

examples. 12-16 and 13-15 group compounds.

o Watch Video Solution

289. What are diamagnetic substances ? Give

three examples

° Watch Video Solution



https://dl.doubtnut.com/l/_v39nPAOx0O8D
https://dl.doubtnut.com/l/_gUGuqJbg1s6G
https://dl.doubtnut.com/l/_kF6QPaJBEsOg
https://dl.doubtnut.com/l/_CDxtQOFX9Ihr

290. What is paramagnetic substance ? Give

one example.

o Watch Video Solution

291. What are ferrimagnetic substances ? Give

examples

° Watch Video Solution

292. What is the cause of ferromagnetic

character


https://dl.doubtnut.com/l/_CDxtQOFX9Ihr
https://dl.doubtnut.com/l/_yrunbvbOOAuw
https://dl.doubtnut.com/l/_RLdObAKLYSGE

° Watch Video Solution

293. What are anti-ferromagnetic substances?

Give one example.

o Watch Video Solution

294. What are ferrimagnetic substances ? Give

examples

° Watch Video Solution



https://dl.doubtnut.com/l/_RLdObAKLYSGE
https://dl.doubtnut.com/l/_VHqhMc6b4bPz
https://dl.doubtnut.com/l/_NePlvObKQ5eR
https://dl.doubtnut.com/l/_n9Vi6Am3Bhg5

295. What type of substances would make
better permanent magnets, ferromagnetic or

ferrimagnetic. Justify your answer.

° Watch Video Solution

296. Define the following :
Antiferromagnetic substances and

antiferromagnetism

° Watch Video Solution



https://dl.doubtnut.com/l/_n9Vi6Am3Bhg5
https://dl.doubtnut.com/l/_7UewTIjyUqEx

Multiple Choice Questions

1. The major binding force of diamond , silicon
and quartz is

A. Electrostatic force

B. Electrical attraction

C. Covalent bond force

D. Non covalent bond force.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_mHDmqXwgjwUo

2. Graphite is an example of:

A. molecular solid

B. covalent solid

C. ionic solid

D. metallic solid

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_mHDmqXwgjwUo
https://dl.doubtnut.com/l/_3zirNNLgGUbH
https://dl.doubtnut.com/l/_emKnQJYdpEgQ

3. The total number of lattice arrangements in

different crystal system is

A.7.0

B.3.0

C.8.0

D. 14

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_emKnQJYdpEgQ

4. Which one of the following will have a low

heat of fusion ?

A. a covalent solid

B. an ionic solid

C. a metallic solid

D. a molecular solid

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_HTdXqgtw1rcz
https://dl.doubtnut.com/l/_dA1MToNs4GmC

5. The crystal system of a compound with unit

cell parameter,

Aa=b=ca=08=~v=90°

Ba=b#*c,a=08=+v=90°

Ca#b#c,a=p8=~v=90°

D.a=b#c,a=08=90°,v=120"

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_dA1MToNs4GmC

6. Zn converts its melting state to its solid

state, it has hcp structure, then find out the

nearest number of atoms.

A.6

B.8

C.12

D. 4

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_wLI8jgKr7WIU

7. A metallic crystal crystallises into a lattice
containing sequence oflayers AB, AB, AB. .. Any
packing of spheres leaves out voids in the
lattice What percentage of volume of this
lattice is empty space?

A.0.74

B.0.26

C.05

D. none of these.

Answer:


https://dl.doubtnut.com/l/_k9JcXRRPDkTc

° Watch Video Solution

8. The cordination number of a metal

crystallising in a hexagonal close-packed

structure is:

A. 12

B.4

C.8

D.6

Answer:


https://dl.doubtnut.com/l/_k9JcXRRPDkTc
https://dl.doubtnut.com/l/_TOcwk7Ts6AVS

° Watch Video Solution

9. The packing fraction for a body centred

cube is

A.042

B.0.53

C.0.68

D. 0.82

Answer:



https://dl.doubtnut.com/l/_TOcwk7Ts6AVS
https://dl.doubtnut.com/l/_wKHGBriTfwLw

10. In crystal structure of sodium chloride, the

arrangement of Cl ions is

A. fcc

B. bcc

C. both fee and bcc

D. Tone of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_wKHGBriTfwLw
https://dl.doubtnut.com/l/_epXxqWvnDF3S

1. The percentage of nitrogen in HNO3 is

° Watch Video Solution

12. The number of octahedral sites per sphere

in fcc structure is

A.8

B.4


https://dl.doubtnut.com/l/_epXxqWvnDF3S
https://dl.doubtnut.com/l/_kFUkKYLq1ZcB
https://dl.doubtnut.com/l/_KvaDJvqMTDO0

C.2

D. 1

Answer:

° Watch Video Solution

13. The number of tetrahedral sites per sphere

in fcc structure is

A.8

B.4


https://dl.doubtnut.com/l/_KvaDJvqMTDO0
https://dl.doubtnut.com/l/_pSmCdPbopCoo

C.1

D. 2

Answer:

° Watch Video Solution

14. A crystal lattice with alternate +ve and-ve
ions has radius ratio of 0.524. Its coordination

number is

A 4


https://dl.doubtnut.com/l/_pSmCdPbopCoo
https://dl.doubtnut.com/l/_LanCZl1eTnI7

B.3

C.6

D. 12

Answer:

o Watch Video Solution

15. Calculate the equivalent weight of oxalic

acid

° Watch Video Solution



https://dl.doubtnut.com/l/_LanCZl1eTnI7
https://dl.doubtnut.com/l/_rx9tgKknuYHk

16. Which of the following is Bragg's equation?

A n\ = 2sin@

B.nA = 2dsin@
C.2n\ = dsinf
A d .
D.nE = 551119
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_a0TvieBstg6m

17. 74.5g of metal chloride contains 35.5g of

chlorine. the equivalent weight of metal is.....

° Watch Video Solution

18. Name the element with electronic

configuration 1s2 2s2

o Watch Video Solution

19. The units of molality are ..........


https://dl.doubtnut.com/l/_SHl1EMfxkJdn
https://dl.doubtnut.com/l/_i2tR0z9tZGSC
https://dl.doubtnut.com/l/_caSmTElTeHLn

Answer:

° Watch Video Solution

20. How many gram of oxygen is required to
completely react with 0.200g of hydrogen to

yield water .


https://dl.doubtnut.com/l/_caSmTElTeHLn
https://dl.doubtnut.com/l/_KbulMu7MLBC2

° Watch Video Solution

21. Calculate the amount of water produced by

the combustion of 16g of methane.

o Watch Video Solution

22. How many moles of methane are required

to produce 22 g of CO2 for combustion?

° Watch Video Solution



https://dl.doubtnut.com/l/_KbulMu7MLBC2
https://dl.doubtnut.com/l/_aURKorOUIKap
https://dl.doubtnut.com/l/_BMsvqu11Mx6F
https://dl.doubtnut.com/l/_jbWZWxkhLoWc

23. Missing of one positive ion and one

negative ion from the crystal lattice is called

A. Frenkel defect

B. Schottky defect

C. Point defect

D. lonic defect

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_jbWZWxkhLoWc

24. If edge of a bcc crystal of an element is a

cm, number, then density of the crystal is

A. M
a3 N,
2M
N,a?
2N,
Ma?
Ma3
"IN,

D

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_gm9VZJarnr28
https://dl.doubtnut.com/l/_ogvOvv5Rqpod

25. Amorphous solids

A. possess sharp melting points

B.undergo clean cleavage when cut with

knife

C.do not undergo clean cleavage when cut

with knife

D. possess orderly arrangement over long

distances.

Answer:

I ° Watch Video Solution


https://dl.doubtnut.com/l/_ogvOvv5Rqpod

26. The number of atoms present in a fcc unit

cell is

A.6

B.8

C.4

D. 12

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ogvOvv5Rqpod
https://dl.doubtnut.com/l/_B7YVBqD32p4p

27. 200 ml of N/10 H2SO4 is mixed into 300ml
N/100 NaOH . calculate normality of resulting

mixture.

o Watch Video Solution

28. The number of atoms in bcc arrangement

is

Al

B.2


https://dl.doubtnut.com/l/_B7YVBqD32p4p
https://dl.doubtnut.com/l/_XROFD693aiPD
https://dl.doubtnut.com/l/_qEc0Jqp34NtH

C.4

D.6

Answer:

° Watch Video Solution

29. The fraction of volume occupied by atoms

in a primitive cubic unit cell is nearly:

A.0.524

B.0.74


https://dl.doubtnut.com/l/_qEc0Jqp34NtH
https://dl.doubtnut.com/l/_nVNjN1GPgrkw

C.0.68

D. None of these

Answer:

° Watch Video Solution

30. Volume occupied inf.c.c.is :

A.0.74

B. 0.68

C.0.524


https://dl.doubtnut.com/l/_nVNjN1GPgrkw
https://dl.doubtnut.com/l/_ay82famSilIj

D. 0.65

Answer:

° Watch Video Solution

31. The conductivity of metals increases with:

A. Increase in temperature

B. Decrease in temperature

C. No change observed

D. Increases then decreases


https://dl.doubtnut.com/l/_ay82famSilIj
https://dl.doubtnut.com/l/_rRsBxLbycpnk

Answer:

o Watch Video Solution

32. What is radius ratio for the co-ordination

number 8

A.0.732-1.0

B.0.414--0.732

C. 0.155-0.225

D. None of these


https://dl.doubtnut.com/l/_rRsBxLbycpnk
https://dl.doubtnut.com/l/_xnVbYvAMA6pS

Answer:

o Watch Video Solution

33. How many moles of sodium chloride are

present in 250 ml of a 0.50M NaCl solution ?

o Watch Video Solution

34. Calculate number of moles of Na2SO4
produced from 1 mole of NaOH when reacted

with H2S04.


https://dl.doubtnut.com/l/_xnVbYvAMA6pS
https://dl.doubtnut.com/l/_zlzY23ulttcX
https://dl.doubtnut.com/l/_JGIPmArb2spi

° Watch Video Solution

35. Calculate mass of CO2 produced by heating

40g of 20% limestone.

o Watch Video Solution

36. How many moles of lead nitrate is needed

to produce 224 litre of oxygen at NTP ?

° Watch Video Solution



https://dl.doubtnut.com/l/_JGIPmArb2spi
https://dl.doubtnut.com/l/_FDdAVK0DXkOh
https://dl.doubtnut.com/l/_QS98aS3llqPM
https://dl.doubtnut.com/l/_mTy0yUIbIO5H

37. What is the co-ordination number of atoms

in a cubic close packed structure

A.6

B.8

C.4

D. 12

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_mTy0yUIbIO5H

38. When unpaired electron is trapped in
anion vacancy, then crystal with such a defect

is id to have

A. Schottky defect

B. F-cente

C. Frenkel defect

D. Non-stoichiometric defect

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_iTEBxCZdOCMr

39. Calculate the amount of 50% H2SO4

required to decompose 25g of marble .

° Watch Video Solution

40. How many grams of CaO is obtained on

heating 100g of CaCO3?

o Watch Video Solution

41. The Common Name of 2,4,6- trinitrophenol


https://dl.doubtnut.com/l/_iWyAjFfRh2mZ
https://dl.doubtnut.com/l/_nOOIfSIZFkdk
https://dl.doubtnut.com/l/_PmTXCU08yEJs

A. Carbolic Acid

B. Picric Acid

C. Formic Acid

D. None

Answer:

° Watch Video Solution

42, Write the IUPAC Name

CH3CH2CH=CHCHO

of

| 8


https://dl.doubtnut.com/l/_PmTXCU08yEJs
https://dl.doubtnut.com/l/_FHNYmx0ZJKiT

43. Which of the following is strongest base ?

A. Methylamine

B. Ethylamine

C. Ammonia

D. All have same basic strength

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_FHNYmx0ZJKiT
https://dl.doubtnut.com/l/_oiaQ1tolba9A
https://dl.doubtnut.com/l/_RFznM2P2uDvU

44, A given solution of NaOH contains 4.00 g
of NaOH per litre of solution. Calculate the

molarity of this solution .

o Watch Video Solution

45. The major binding force of diamond ,

silicon and quartz is

A. Electrostatic force

B. Electrical attraction


https://dl.doubtnut.com/l/_RFznM2P2uDvU
https://dl.doubtnut.com/l/_FdysRP9czu1n

C. Covalent bond for~e

D. Non covalent bond force.

Answer:

O Watch Video Solution

46. Graphite is an example of:

A. molecular solid

B. covalent solid

C.ionic solid


https://dl.doubtnut.com/l/_FdysRP9czu1n
https://dl.doubtnut.com/l/_HICPHwNKbpDi

D. metallic solid

Answer:

o Watch Video Solution

47. The total number of lattice arrangements

in different crystal system is

A 7.0

B.3.0

C.8.0


https://dl.doubtnut.com/l/_HICPHwNKbpDi
https://dl.doubtnut.com/l/_ni0OvzrHulL8

D. 14

Answer:

o Watch Video Solution

48. Which one of the following will have a low

heat of fusion ?

A. a covalent solid

B. an ionic solid

C. a metallic solid


https://dl.doubtnut.com/l/_ni0OvzrHulL8
https://dl.doubtnut.com/l/_GZLD2YkTEZRf

D. a molecular solid

Answer:

° Watch Video Solution

49. The crystal system of a compound with

unit cell parameter,

Aa=b=ca=08=~v=090°

Ba=b#*ca=08=v=90°

Ca#b#c,a=p8=~=90°


https://dl.doubtnut.com/l/_GZLD2YkTEZRf
https://dl.doubtnut.com/l/_1QIFll3F5Ttt

D.a=b#c,a=08=90",v=120"

Answer:

° Watch Video Solution

50. Zn converts its melting state to its solid

state, it has hcp structure, then find out the

nearest number of atoms.

A.6

B.8


https://dl.doubtnut.com/l/_1QIFll3F5Ttt
https://dl.doubtnut.com/l/_Swy62cTHP3nT

C.12

D.4

Answer:

o Watch Video Solution

51. A metallic crystal crystallises into a lattice
containing sequence oflayers AB, AB, AB. .. Any
packing of spheres leaves out voids in the
lattice What percentage of volume of this

lattice is empty space?


https://dl.doubtnut.com/l/_Swy62cTHP3nT
https://dl.doubtnut.com/l/_Z6yzjDmOYwMd

A.0.74

B.0.26

C.05

D. none of these.

Answer:

o Watch Video Solution

52. The cordination number of a metal
crystallising in a hexagonal close-packed

structure is:


https://dl.doubtnut.com/l/_Z6yzjDmOYwMd
https://dl.doubtnut.com/l/_HE5nLVkYAeod

A. 12

B.4

C.8

D.6

Answer:

° Watch Video Solution

53. The packing fraction for a body centred

cube is


https://dl.doubtnut.com/l/_HE5nLVkYAeod
https://dl.doubtnut.com/l/_VMClwFOHWPla

A.042

B.0.53

C.0.68

D. 0.82

Answer:

° Watch Video Solution

54.In crystal structure of sodium chloride, the

arrangement of Cl ions is


https://dl.doubtnut.com/l/_VMClwFOHWPla
https://dl.doubtnut.com/l/_NGLhkWjkm1ch

A. fcc

B. bcc

C. both fee and bcc

D. Tone of these

Answer:

° Watch Video Solution

55. The intermetallic compound LiAg

crystallizes in cubic lattice in which both


https://dl.doubtnut.com/l/_NGLhkWjkm1ch
https://dl.doubtnut.com/l/_oZIPhKrL1VG4

lithium and silver have co-ordination number

of e,ight. The crystal class is

A. simple cubic

B. body centred cubic

C. face centred cubic

D. none of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_oZIPhKrL1VG4

56. The number of octahedral sites per sphere

in fcc structure is

A.8

B.4

C.2

D. 1

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_XxO1gERQljsJ
https://dl.doubtnut.com/l/_8EVK6oTiG3vN

57. The number of tetrahedral sites per sphere

in fcc structure is

A.8

B.4

C.1

D. 2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_8EVK6oTiG3vN

58. A crystal lattice with alternate +ve and-ve

ions has radius ratio of 0.524. Its coordination

number is

A 4

B.3

C.6

D. 12

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_S5a65ygG0Q7g

59. Define radius ratio what is the value of

radius ratio for octahedral gemotry ?

A. 0-0.155

B. 0.155-0.225

C.0.225-0.414

D. 0.414-0.732

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_OpZjIr2tuVz8
https://dl.doubtnut.com/l/_aJ5gr2t8LLcZ

60. Which of the following

equation?
A.n\ = 2sinf
B.nA = 2d sinf
C.2n\ = dsinf
D.n% = %sin@
Answer:

is

Bragg's

o Watch Video Solution



https://dl.doubtnut.com/l/_aJ5gr2t8LLcZ

61. STATEMENT -1 : Due to Frenkel defect there
is no effect on density of a solid.
STATEMENT -2 : lons shift from lattice site in
Frenkel defect .

A. decreases

B. increases

C. does not change

D. changes

Answer:

‘ ° Wiak hh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_wJhFDjUDfGkH
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62. If we mix a pentavalent impurity in a crystal
lattice of germanium, what type of semi

conductor formation will occur

A.p - type
B.n - type
C. bothAand B

D. none of these

Answer:



https://dl.doubtnut.com/l/_wJhFDjUDfGkH
https://dl.doubtnut.com/l/_TFV0HDGTbGgJ

| ¥ Watch Video Solution

63. What are the consequences of Schottky
defects ?
A. some of lattice sites are vacant
B.an ion occupies interstitial position
between lattice points
C. a lattice site is occupied by electron

_|_

. . r .
D. he radius ratio,— is low
-

Answer:


https://dl.doubtnut.com/l/_TFV0HDGTbGgJ
https://dl.doubtnut.com/l/_U1oPMc9YP1FA

° Watch Video Solution

64. Which of the following is covalent solid?

A. Fe

B. Diamond

C.NaCL

D. Cu

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_U1oPMc9YP1FA
https://dl.doubtnut.com/l/_HDImmKjoj6zl

65.In a solid lattice the cation has left a lattice

site and is located at an interstitial position,

the lattice defect is

A. Interstitial defect

B. Vacancy

C. Frenkel defect

D. defect

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_HDImmKjoj6zl
https://dl.doubtnut.com/l/_nTYWrDwwU0e8

66. Which of the following is a pseudo solid?

A. CCLFQ

B. Glass

C. NacCl

D. Licl

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_nTYWrDwwU0e8
https://dl.doubtnut.com/l/_G0IqjYBzMNsw
https://dl.doubtnut.com/l/_skL2nnribcK5

67. Missing of one positive ion and one

negative ion from the crystal lattice is called

A. Frenkel defect

B. Schottky defect

C. Point defect

D. lonic defect

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_skL2nnribcK5

68. If edge of a bcc crystal of an element is a

cm, number, then density of the crystal is

A 4M
a*N,
2M
N,a?
2N,
Ma?
Ma3
"IN,

D

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_1rmns6QRf9bM
https://dl.doubtnut.com/l/_1sBvpwv4HwDu

69. Amorphous solids

A. possess sharp melting points

B.undergo clean cleavage when cut with

knife

C.do not undergo clean cleavage when cut

with knife

D. possess orderly arrangement over long

distances.

Answer:

I O Watch Video Solution


https://dl.doubtnut.com/l/_1sBvpwv4HwDu

70. The number of atoms present in a fcc unit

cell is

A.6

B.8

C.4

D. 12

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_1sBvpwv4HwDu
https://dl.doubtnut.com/l/_Z7A4oYVvf6NG

71. If the alignment of mangnetic moments in
a substance is 'in-a compensatory way so as to
give zero net magnetic moment, then the
substance is said to be

A. Ferromagnetism

B. Anti-ferromagnetism

C. Ferrimagnetism

D. Diamagnetism

Answer:



https://dl.doubtnut.com/l/_Z7A4oYVvf6NG
https://dl.doubtnut.com/l/_sR2om0zyQuRK

o Watch Video Solution

72. The number of atoms in bcc arrangement

IS

Al

B.2

C.4

D.6

Answer:

l ﬂ Watch Video Solution l


https://dl.doubtnut.com/l/_sR2om0zyQuRK
https://dl.doubtnut.com/l/_W41nbnNSH9XM

73. The fraction of volume occupied by atoms

in a primitive cubic unit cell is nearly:

A.0.524

B.0.74

C. 0.68

D. None of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_W41nbnNSH9XM
https://dl.doubtnut.com/l/_fYGeB10dMUCf

74.Volume occupied inf.c.c.is :

A.0.74

B. 0.68

C.0.524

D. 0.65

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_fYGeB10dMUCf
https://dl.doubtnut.com/l/_ieNBPsupIGLW
https://dl.doubtnut.com/l/_6R2JGOFseAui

75. The conductivity of metals increases with:

A.Increase in temperature

B. Decrease in temperature

C. No change observed

D. Increases then decreases

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_6R2JGOFseAui

76. What is radius ratio for the co-ordination

number 8

A.0.732-1.0

B.0.414--0.732

C. 0.155-0.225

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_MNvL3pW0a5IP
https://dl.doubtnut.com/l/_oFK59SRNVQmt

77. Close packing is maximum in the crystal

which is

A. bcc

B. fcc

C. simple cubic

D. end centered cubic.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_oFK59SRNVQmt

78.1n a solid lattice the cation has left a lattice

site and is located at an interstitial position,

the lattice defect is

A. n-type

B. p-type

C. Frenkel defect

D. Schottky defect.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_7DBF6nLVTNQ0

79. The cordination number of a metal

crystallising in a hexagonal close-packed

structure is:

A. 12

B.4

C.8

D.10

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_8G6HIYauttEB

80. The amorphous solid among the following

IS

A. Table salt

B. Diamond

C. Plastic

D. Graphite

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Y9Y0AupwZyaH
https://dl.doubtnut.com/l/_KBY58IXeBjhi

81. What is the coordination number of atoms.

In a cubic close packed structure ?

A.6

B.8

C.4

D. 12

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_KBY58IXeBjhi

82. When unpaired electron is trapped in
anion vacancy, then crystal with such a defect

is id to have

A. Schottky defect

B. F-cente

C. Frenkel defect

D. Non-stoichiometric defect

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_X1gvrNoJ0Q0f

8. Which of the following is a molecular solid?

A. Rock salt
B. Quartz
C.lce

D. Diamond.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_WAzo394ynhVx

84. The empty space within hcp arrangement

IS

A.0.34

B.0.476

C.0.32

D. 0.26

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_s3sq0zRsOCre
https://dl.doubtnut.com/l/_KVK4JctSZGk5

85. The space occupied by spheres in bcc

arrangement is

A.0.74

B.0.2

C.0.68

D. 0.522

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_KVK4JctSZGk5

86. The number of tetrahedral voids per atom

in a crystal lattice is

A4

B.2

C.6

D.8

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_PwMiHKqGVb3O
https://dl.doubtnut.com/l/_FYwFWi76qoTu

87. The number of atoms in bcc arrangement

IS

A2

B.1

C.6

D.4

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_FYwFWi76qoTu

88. The apperance of colour in solid alkeli

metal halide is generally due to

A. Schottky defect

B. Schottky defect

C. F-centre

D. Interstitial position

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_l6JrwBIBJgm8

